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NO. 5 + 6.600 0.930 0.0 0. 00 0.0 .0 .50 7.9 0.0 0. 00 0.0
A 107. 430 207. 6 936. 8 34.9
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NO. 1 16. 000 1.1 0.95 15. 2 0.7 0. 60 9.6
NO. 2 20. 000 0.8 0. 95 19. 0 0.6 0. 65 13.0
NO. 3 20. 000 0.8 0. 80 16. 0 0.6 0. 60 12.0
NO. 4 20. 000 0.6 0.70 14. 0 0.4 0. 50 10. 0
NO. 5 20. 000 1.2 0.90 18.0 0.7 0.55 11.0
NO. 5 + 2.100 2.100 1.2 1.20 2.5 0.7 0.70 1.5
O~OXH 44. 000 1.2 1.20 52. 8 0.7 0.70 30. 8
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ERE FHhEHK

¢ 150 iR
K i EE ER Kif-EE FHh EExTF#Hr  FHEEn FHEFout THHERE ERx Fian
E~aiR 48940  48.495 0.445 0.20
48960  48.454 14.0 0.506 0.476 6.657 0.20 0.200 2.800
A ~EpiR 48960  48.495 0.465 0.20
48960  48.454 14.0 0.506 0.486 6.797 0.20 0.20 0.200 2.800
B 49006 48410 13.8 0.596 0.551 7.604 0.20 0.20 0.200 2.760
L V) 49033  48.304 204 0.729 0663 13515 0.20 0.20 0.200 4.080
353 49033  48.198 20.4 0.835 0782 15953 0.20 0.20 0.200 4.080
BiRd 49020  48.092 20.4 0.928 0.882  17.983 0.20 0.20 0.200 4.080
8485 48960  47.986 20.4 0.974 0.951 19.400 0.20 0.20 0.200 4.080
5456 48950  47.970 24 0.980 0.977 2.345 0.20 0.200 0.480
1258 90.253 25.160
$150  MEFoh (Kt =[__0.717] FiomeE[ 0.200]
BERE THhEHE
¢ 100 iR
K i EE ER Kif-EE FHh ERxTF#Hr  FHEEn FHEFout THHERE ERxFian
B 48910  48.500 0.410 0.20
49006 48410 446 0.596 0503  22.434 0.20 0.200 8.920
i 52 48910 48500 0.410 0.20
49033 48350 495 0.683 0546  27.052 0.20 0.200 9.900
i %53 48910 48500 0.410 0.20
49033 48283 72.1 0.750 0580 41818 0.20 0200  14.420
i 54 48910 48500 0.410 0.20
49020 48274 75.0 0.746 0578  43.350 0.20 0.200  15.000
i %455 48910 48500 0.410 0.20
48960 48274 75.0 0.686 0548  41.100 0.20 0.200  15.000
7 1456 48910 48500 0.410 0.20
48950  48.352 49.1 0.598 0504 24746 0.20 0.200 9.820
57 48910 48500 0.410 0.20
48950  48.352 39.0 0.598 0504  19.656 0.20 0.200 7.800
& HiRS 48950  48.352 0.598 0.20
48950  48.280 17.8 0.670 0634 11285 0.20 0.200 3.560
A R 48.950 48540 0.410 0.20
49006  48.410 410 0.596 0503  20.623 0.20 0.200 8.200
A B#R2 48970  48.560 0.410 0.20
49033  48.290 71.0 0576 40932 0.20 0200  14.200
A B3 49.000  48.590 0.410 0.20
49033  48.290 98.6 0.743 0576  56.843 0.20 0200  19.720
A R4 48950  48.540 0.410 0.20
49020  48.360 59.6 0.660 0535  31.886 0.20 0200  11.920
A RS 48.950  48.540 0.410 0.20
48960  48.360 59.6 0.600 0505  30.098 0.20 0200  11.920
A iR6 48.950 48540 0.410 0.20
48950  48.438 340 0512 0.461 15.674 0.20 0.200 6.800
785.9 427497 157.180

| &1 mEFHN(RIE-EE)

siomeE[ 0.200]



ARy ) ) - R BaEitiE
&l ) = e L A
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(0. 050 0.050) / 2 X 0.30 12. 30 0.18
(0. 050 0.050) / 2 X 0.30 29. 28 0.44
i 53. 82 0. 96

10m¥% Y| 0.96 53.82 X 10 0.18 m3  HAfZ &~
B300 X H400 (0. 150 0.050) / 2 X 0.30 50. 00 1.50
At 50. 00 1.50

10m¥% Y| 1.50 50.00 X 10 0.30 m3  HAfZHEA~
B300 X H500 (0. 150 0.116) / 2 X 0.30 17. 15 0. 68
(0.116 0.108) / 2 X 0.30 3.97 0.13
(0. 108 0.052) / 2 X 0.30 28. 00 0.67
At 49. 12 1.48

10m¥%4 Y| 1.48 49.12 X 10 0.30 m3  HAfZHEA~
B300 X H600 (0. 152 0.050) / 2 X 0.30 12. 00 0.36
At 12. 00 0.36

10m¥% Y| 0.36 12.00 X 10 0.30 m3  HAfZHEA~
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